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QUESTION 1

Data on an AFF system is replicated using SnapMirror to aFAS system that is configured with NL-SAS-based storage.
In this scenario, which storage efficiency is lost on the SnapMirror destination?

A. compaction

B. compression

C. aggregate-level deduplication
D. volume-level deduplication

Correct Answer: B

QUESTION 2

A client has a primary data center that is located in a coastal area where the forecast is calling for a Category 5
hurricane to make landfall in three days. The client\\'s data is protected using NetApp SVM SnapMirror replication
technology with identity-preserve that is enabled. The data is mirrored to a destination cluster outside of the affected
area. The client has scheduled a controlled maintenance window for tomorrow to ensure that dependable operations are
maintained.

Which three steps must be taken to accomplish this task? (Choose three.)

A. You must break the SnapMirror relationship on each individual volume between the source and the destination
clusters.

B. You must configure the destination SVM volumes for data access.

C. You must reboot each server in your infrastructure so that they can access the data from the destination volumes.
D. You must break the SnapMirror relationship between the source and the destination SVMs.

E. You must stop the source SVM before activating the destination SVM.

Correct Answer: BDE

QUESTION 3

Your customer wants to implement SVM DR, but the customer is not certain whether theidentity-preserve parameter
should be enabled. The customer explains that the source and destination clusters are in different network subnets. In
this scenario, which SVM DR solution should the customer use?

A. SVM DR using the identity-preserve parameter disabled and the default SnapMirror policy.

B. SVM DR using the identity-preserve parameter enabled and then administratively take the data LIFs offline on the DR
cluster.

C. SVM DR with the identity-preserve parameter enabled and a SnapMirror policy with the discard-configs network
parameter.
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D. SVM DR with the identity-preserve parameter enabled and the default SnapMirror policy.

Correct Answer: D

QUESTION 4

You are copying your data and replicating it off site. What is the called?
A. a backup

B. a demonstration

C. aversion

D. a Snapshot

Correct Answer: A

QUESTION 5

Click the Exhibit button.

Error

Using peer-address 192,168.100.153: An introductory RPC to the peer address "192,168.100.153" failed to connect: RPC: Remote system
error [from mgwd on node "cluster2-01" (VSID: -1) to xcintro at 192.168,100.153]. Verify that the peer address is correct and try again.

17 Initiator Cluster ¢ —————— I Target Cluster
(cluster2)
Initiator Cluster Intercluster LIFs Intercluster LIFs addresses
IPspace Default © 1arget Cluster 192.168.100.153
Intercluster LIF IP
(clu..l) 192.168.0.143
Addresses

The effective cluster version of the remote cluster is earlier than
ONTAP 96

You are configuring cluster peering from cluster2 to clusterl on your ONTAP 9.7 clusters using ONTAP System
Manager. You are given the details shown below to set up the cluster peer relationship. You want to determine why the
peering has failed.

Cluster2 intercluster LIFIP: 192.168.0.143 Subnet: 255.255.255.0 Port: eOe passphrase: netapp1234

Clusterl intercluster LIF IP: 192.168.0.153 Subnet: 255.255.255.0 Port: e0Oe passphrase: netappl1234

NSO0-527 VCE Dumps | NS0-527 Study Guide | NS0-527 Exam Questions 3/4


https://www.geekcert.com/ns0-527.html
https://www.geekcert.com/ns0-527.html
https://www.geekcert.com/ns0-527.html

VCE & PDF https://lwww.geekcert.com/ns0-527.html
' 2024 Latest geekcert NS0-527 PDF and VCE dumps Download

GeekCert.com

Referring to the exhibit, which statement is correct?
A. The Source Cluster IP is incorrect.

B. The Target Cluster Passphrase is incorrect.

C. The Target Cluster IP is incorrect.

D. The Source Cluster Passphrase is incorrect.

Correct Answer: CD
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